
9531,408 232

232 877

299 397 1,602 1,028

1,408:1,602: 1,028:

  1,079
-    780______

Answer:

Solve these subtraction problems to find the number that goes with each letter. Then enter 
the letter in the space provided below.  The words will spell out the answer to the riddle!  

Riddle: What kind of music do stones listen to?

C.

U.

K. I.

O.

S.

 1,621
-1,389______

R.  1,283
-   406______

  6,000
- 4,592______

  1,115
-    ______162

M.  2,935
-1,______333

  1,970
- 1,573______

  2,802
- 1,774______

C. 4,213
- 3,981______

953:877:

Math: Subtraction

299:“
”

397: 232:

232:

AnswersSolve the Riddle!
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